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EXERCISE XXVIII.

(l.)a (2.)20x-32;/. (3.) (.•- J )(.*•- ^ )

(4.) i\. (6.) l + 3x+ (M;''+ 7j'' + 0.'* + 3a;Hx«.

(6.) l+.r + ]!.fH.^.>'" +?,'•. (7.) Oft.

(S.) l-ia' + 'ib + lh\ (9.) . (10.)7a-56.

EXERCISE XXIX.

(1.) x= a + b + c. (2.) 2(a* +<W + h*). (3.) 291.

(4.) 1. (5.) 1 - ix - kx'+hp-'

-

i^*- (<'•) i^^OO.

Pa^e56. (7.) ^^ - 3^ (J
-

J)
•

(8.) Let X, x + 1, x+ 2, x + S be the numbers, etc.

(9.) Apply diuorence of (squares. (10.) 0.

(3.) l-m-n.

EXERCISE XXX.

(1.) 2Ga;'-48j-i/ + 2();A (2.)

(4.) . (5.) 4(.«- + a)(i/+ s).

(6.) (4x''+ 6bx){r>x + V>a). (7.) x.

(8.) 3-4x + 7^-'-10a:». (9.) -2.

(10.) (7a; + 6i/-9)(x-f/+ 4).

EXERCISE XXXI.

(1. ) - 20. (2. ) (1 + .*• + x'Y -(1-X+xy - 6x{x*+ x^+ l)

is a cube, etc.

(3.) (4.)
b" - m-
2(>« - a)

(5.) 20 years.

Page 57. (6. )
(^' + 2|/ + 3~~)'^ + (4 ./+ 5.-)'^+ (6zy.

(7. ) {x - a) {x' - b-'). (8. ) {x'+ 6x+ 1 1) (x'^+ 6x+ 3).

(9. ) (x^ - 6x+ 4) (x' + ().>•+ 4).

(10.) Apply difference of squares.

EXERCISE XXXII.

(1.) 200 lbs. (2.) Apply difference of squares.

(3.) 3y^-7.«' + ll.

(4.) Divide the expressiim by product of (2a; - 3)

(3x + l), and the co-efficients of like powers in

the remainder must be e(][ual ; m= C, 71= -37.


